
No. Name Description Picture Qty PVP

Motor 36V, 250W, 25KM/H Motor 350w opcional

Rim □700C          □26 Inch Llanta

Spokes  
□247mm*36Pcs                         
□217mm*36Pcs

Radios

Side Reflector □2  Pcs Reflectores

□Front Wheel Drive                            
( Pls see diagram 2)

Motor delantero

□Rear Wheel Drive                       
(Pls see diagram 3)             
Remarks: If you need index 
free wheel, we will supply 
Shimano 6-7-8 speed for you.

Motor trasero Indicar si es 
necesario suministrar cassette 
piñon de hasta 8Velocidades

Connecting line         
(for motor and 
controller) 

□700C      Line length:1.8M        
□26 Inch   Line length:1.6M  

□700C   l. cable:1.8M        
□26 Inch l.cable:1.6M  

Battery-1 36V, 10AH, Li-ion Battery Batería Litio 36V, 10AH 390€

Controller Box-2 Caja controlador 19€

Carrier-3 Transportín 45€

Power Plug
□EU  □US  □AU                   
□DE  □UK □ZA

□EU  □US  □AU                   
□DE  □UK □ZA

Five PAS power levers: Cinco niveles PAS

a.Pure manpower a.Sin asistencia

b.Low PAS b.Asistencia baja

c.Medium PAS c.Asistencia media

d.High PAS d.Asistencia alta

e.Direct drive with throttle e.Asistencia con acelerador

Battery Status Indicador de batería

Keep Speed of  6KM/H Arranque 6Km/h

Line Length:2M L.Linea 2 m

Line Length:0.8M                     
(Pls see diagram 4)

Sensor de pedaleo PAS

8 Power Cut Off Brakes

6 Speed Sensor 

7

1 Unit 56€3

Line Length:2M
Frenos palanca con corte de 
encendido

LED Display 

Cargador inteligente 2A 

5 Throttle Line Length:2M Acelerador

4

Charger 36V,  2 A Smart Charge

1 Unit

2

1

________ Part List for Conversion Kits 700C/26"

186€

1 Unit

TEL: +34 902 996 416 / +34 966 868 930     FAX: +34 966 867 363         EMAIL: info@ebici.net

19€

15€

49€

1 Unit

1Unit

1 Unit

1 Unit

65€1 UnitController 36V, brushless Controlador 36V

25€

 V2.1  Date:
2010-10-01 

2� 1�

3�



9 Package
7 Level A+A Carton                           
Waterproof 

Embalaje Carton 7 capas 1Unit

10 Tools

                                                                                                        
M5x12 screw                 4 Pcs
M5 pad                         4 Pcs
M6X12 screw                 4 
Pcs
M6 pad                         4 Pcs 
Ribbon                           
10Pcs
Motor hall connector        1Pc   
3” screwdriver for throttle  
1Pc
4” screwdriver                  1Pc 
5” screwdriver for brake    
1Pc

M5x12 tornillo                 4 Pcs
M5 arandela                    4 Pcs
M6X12 tornillos                 4 
Pcs
M6 arandela                      4 
Pcs Bridas                           
10Pcs
Motor hall conector        1Pc   
3”allen para acelerador  1Pc
4” allen                  1Pc
5” allen para freno    1Pc

1Unit 6€

TOTAL Precio del kit completo PVP 590€
Precios orientativos con IVA incluido

Diagram 2 Front Motor

Diagram 3 Rear Motor


